Bk=ZAH THMSEE BHFITBEHMNE

A | B|’EA| ® H i = ROA| X H[E £
5 (22 0 |x&fFE ABXH (1EAF) 400, 000 400, 000
7120 0 [3&fF&E ABXh (2EH) 600, 000 1,000, 000
1 125] 9 |=KE 87Uy MEREEN GAD) (KRB HIE B 4,796| 995, 204
8 | 23] 9 |=KE 27Ly MEREES 6A5) KKREF RO A 4,796] 990, 408
9 5 9 |EHE NV VAR Fis B 25,000 965, 408
9 26| 9 |=HKE sJLy MEREEH (A (KKRE RO A 4,796 960,612
10 20 ] O [ZXfT® ABXH GEAE) 600, 000 1,560, 612
10125 9 |=HE 5 JLy bikEES 6A%) |KFREB RO A 4,796( 1,555,816
11120 9 [EHE 2ILy MEREER A% (KFXKF EO A 4,796( 1,551,020
12122 9 [=%E& 2ILy MEREER (1085 |(KFKF RO FA 4,796] 1,546, 224
1122 0 |XfFE ABXKH (4EE) 600, 000 2,146, 224
1123 2 |FREMRE ;’E‘ﬁ?ﬁﬁ (RilTh. X %% %2\ Rl B 349,920 1,796, 304
1123] 9 |B%E 27Uy MEREREH 1A% (KXKRF RO FIA 4,796( 1,791,508
2 |22 9 [=%E 129K Zig B 12,708] 1,778, 800
2 122 9 (=& 2 7Ly MERBEH (128 (KFEFE RO FMA 4,796 1,774,004
3122 9 [=%E sy bkEER (~38% |(KERF RO A 14,388] 1,759,616
3 |27 6 |L#E KRB —LR—CERE | FIF BE# 972,000( 1,187,616
31271 | 9 |EHE oA FHew Zig B 770] 1,186, 846
3129 9 [EHE TOhA-DHh—FEAEZ X FA 37,678 1,149,168
3129 9 [EH%E ICLa—45—EAE BR FA 16, 720 1,132, 448
2,200,000] 1,067,552 1,132,448
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